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INSTRUCTION TO CANDIDATES :

1. SECTION-A is COMPULSORY -consisting of TEN questions carrying
TWO marks each. -

2. SECTION-B contains FIVE questions carrying FIVE marks each and
students has to attempt any FOUR questions.

3. SECTION-C contains THREE questions carrying TEN marks each and

students has to attempt any TWO gquestions.

SECTION-A

1. Write briclly :

(a)

{b)
(<)
(d)
()
h
(2)
(h)
Q)]
]

Dillerence between safe bearing capacity and sale allowable bearing

pressure.

Characleristics of punching shear failure.

Define uniform settlement and differential settlement.
Degrees of freedom of block foundation.

Depth of exploration for a raft foundation.

Define inside clearance and outside clearance.
Types of pile driving hammers.

Displacement piles and non displacement piles.
Forces acting on well foundation.

Determination of scour depth.
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SECTION-
Whal are assumptions made in the Terz
What do you mean by Tilt and Shift? W
to rectify tilt and shift? Explain with ne:
How can the natural lrequency of a founc
is the use of this determination?
A 450mm dia concrete pile 9m long i
less soil. The average corrected stand
deposit is 15. Using the correlations
capacily of the pile. v = 16kN/m?
What are the advantages and disadvant

SECTION-
A cyclic plate load test was carried |
estimate the elastic coefficients for the
test was carried oul at a depth of 2m
data obtained was:

Load Intensity (kMN/m*} | 23 0

Settlement {mm} 0,541 040 l

Load Intensity (kN:/m?y | © 150 [
i

Settlement {mm} 1.90 3601

Determine the values of €, C. (“.? for

A 60m high tower rests on three legs w
sides 8m each bin. The load coming «
equivalent to a 300kN point. Using |
vertical slress inereasc at appoint 2m
legs.

Wrile.short notes on following :

(a) Comparison of SPT and DCPT

{b) Eleetrical resistivity method

{¢) Tloating foundation.
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